## **BID OPENING DECEMBER 17, 2019**

## 2. ADULT DETENTION FACILITY - OFFICE & ENTRY EXPANSION/REMODEL FURNITURE PACKAGE FUNDING -PROJECT SERVICES

(Request sent to 166 vendors)

## RFB #19-0087

	Qty.	John A. Marshall Co.		Galaxie Business Equipment		Daniksco Office Interiors LLC dba Scott Rice Office Interiors	
A. Seating		Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
A1-Conference Chair	36	\$434.75	\$15,651.00	\$288.75	\$10,395.00	\$391.76	\$14,103.36
A2-Side Chair - Metal Frame	58	\$221.84	\$12,866.72	\$179.41	\$10,405.78	\$201.48	\$11,685.84
A3-Side Chair - Wood Frame	22	\$420.66	\$9,254.52	\$319.42	\$7,027.24	\$627.04	\$13,794.88
A4-Poly Stack Chair	6	\$89.26	\$535.56	\$107.03	\$642.18	\$127.57	\$765.42
A5-Poly Stool	4	\$145.21	\$580.84	\$144.76	\$579.04	\$226.39	\$905.56
A6-Training Chair	6	\$255.33	\$1,531.98	\$260.26	\$1,561.56	\$270.45	\$1,622.70
Group A Installation			n/a		n/a		\$2,365.54
	Group A Sub-total		\$40,420.62		\$30,610.80		\$45,243.30

B. Tables	Qty.	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
B1-48 x 168 Conference Table	1	\$4,656.71	\$4,656.71	\$1,882.89	\$1,882.89	\$4,540.24	\$4,540.24
B2-48 x 144 Conference Table	1	\$4,470.36	\$4,470.36	\$1,435.47	\$1,435.47	\$4,187.86	\$4,187.86
B3-48 x 96 Conference Table	2	\$2,626.51	\$5,253.02	\$1,248.81	\$2,497.62	\$2,371.01	\$4,742.02
B4-36 x 72 Conference Table	1	\$1,303.15	\$1,303.15	\$468.60	\$468.60	\$1,954.03	\$1,954.03
B5-36 Dia. Conference Table	1	\$756.00	\$756.00	\$344.42	\$344.42	\$1,214.87	\$1,214.87
B6-30 x 72 T Leg Table	1	\$564.75	\$564.75	\$468.60	\$468.60	\$390.86	\$390.86
B7-30 x 60 T-Leg Table	2	\$544.64	\$1,089.28	\$422.13	\$844.26	\$364.98	\$729.96
B8-30" Diameter Hightop Table	1	\$614.25	\$614.25	\$337.78	\$337.78	\$647.44	\$647.44
Group B Installation			n/a		n/a		\$1,472.59
Gro	oup B Sub-total		\$18,707.52		\$8,279.64		\$19,879.87

C. Casegoods	Qty.	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
C1-U-Shaped Desk (R) w/Lateral	7	\$5,727.01	\$40,089.07	\$2,833.33	\$19,833.31	\$6,641.55	\$46,490.85
C2-U-Shaped Desk (L). w/Lateral	1	\$5,727.01	\$5,727.01	\$2,833.33	\$2,833.33	\$6,625.27	\$6,625.27
C3-U-Shaped Desk (L)	1	\$5,343.64	\$5,343.64	\$2,805.19	\$2,805.19	\$6,512.05	\$6,512.05
C4-U-Shaped Desk (L)	1	\$5,319.53	\$5,319.53	\$2,744.28	\$2,744.28	\$6,360.72	\$6,360.72
C5-Bookcase	8	\$384.99	\$3,079.92	\$277.25	\$2,218.00	\$916.86	\$7,334.88
C6-L-Shaped Desk (R)	7	\$2,327.18	\$16,290.26	\$2,540.29	\$17,782.03	\$2,521.06	\$17,647.42
C7-L-Shaped Desk (L)	9	\$2,327.18	\$20,944.62	\$2,590.39	\$23,313.51	\$2,505.98	\$22,553.82
Group C Installation			n/a		n/a		\$9,082.00
Group	p C Sub-total		\$96,794.05		\$71,529.65		\$122,607.01
				•		•	
D. Metal Storage	Qty.	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
D1-30"W Storage Cabinet	18	\$867.45	\$15,614.10	\$793.15	\$14,276.70	\$835.57	\$15,040.26
D2-Box/Box/File Pedestal	2	\$166.23	\$332.46	\$177.10	\$354.20	\$261.23	\$522.46
Group D Installation			n/a		n/a	\$1,068.23	\$1,068.23
Group	D Sub-total		\$15,946.56		\$14,630.90		\$16,630.95
				•		•	
E. Systems Furniture	Qty.	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
E1-Room 106	1	\$5,052.27	\$5,052.27	\$6,509.25	\$6,509.25	\$4,608.38	\$4,608.38
E2-Room 131	1	\$15,217.56	\$15,217.56	\$12,912.46	\$12,912.46	\$13,088.03	\$13,088.03
E3-Room 134	1	\$55,273.31	\$55,273.31	\$43,842.92	\$43,842.92	\$49,423.75	\$49,423.75
E4-Room 141	1	\$14,007.51	\$14,007.51	\$11,954.57	\$11,954.57	\$12,971.73	\$12,971.73
E5-Room 156	1	\$2,892.41	\$2,892.41	\$2,762.54	\$2,762.54	\$2,416.52	\$2,416.52
E6-Room 226	1	\$9,994.09	\$9,994.09	\$8,149.82	\$8,149.82	\$9,989.31	\$9,989.31
E7-Room 228	1	\$5,623.23	\$5,623.23	\$4,277.16	\$4,277.16	\$5,465.26	\$5,465.26
E8-Room 230/231	1	\$13,224.43	\$13,224.43	\$10,707.27	\$10,707.27	\$12,063.93	\$12,063.93
E9-Room 232	1	\$8,057.24	\$8,057.24	\$6,883.16	\$6,883.16	\$7,675.08	\$7,675.08
E10-Room 234/238	1	\$10,977.93	\$10,977.93	\$8,475.20	\$8,475.20	\$10,099.44	\$10,099.44
Group E Installation			n/a		n/a	\$8,674.11	\$8,674.11
Group	p E Sub-total		\$140,319.98		\$116,474.35		\$136,475.54
TOTAL PRICE FOR FURNITURE	PACKAGE		\$312,188.73		\$241,525.34		\$340,836.67
	4		h	•	-	•	

F. Alternates	Qty.	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
F1-24 x 72 Table with Casters	6	\$526.05	\$3,156.30	\$404.17	\$2,425.02	\$677.79	\$4,066.74
F2-Training Chair with Casters	12	\$255.33	\$3,063.96	\$260.26 \$3,123.12		\$270.45	\$3,245.40
Acknowledge Addenda (1 & 2)	Acknowledge Addenda (1 & 2)		Yes		Yes		es
A. Seating	Qty.	Encompas Corporation		No		Bid	
A. Seating	Qty.	Unit Price	Ext. Price	Alime	Alimed,Inc.		erican Co.
A1-Conference Chair	36	\$321.91	\$11,588.76	Business Furnitu	re Solutions Inc.	Complex Care Solutions	
A2-Side Chair - Metal Frame	58	\$218.50	\$12,673.00	Dallas l	Midwest	Davis Furniture Company	
A3-Side Chair - Wood Frame	22	\$419.25	\$9,223.50	Ergoa	ability	Ergonomic Solutions	
A4-Poly Stack Chair	6	\$102.11	\$612.66	File	Safe	Furniture by William Webb	
A5-Poly Stool	4	\$193.17	\$772.68	Heubel Materia	l Handling, Inc.	Integrated Fa	cilities Group
A6-Training Chair	6	\$247.98	\$1,487.88	Kansas Con	tract Design	L. K. Goodwin Co., Inc.	
Group A Sub-tot			\$36,358.48	Michigan Tube Swagers & Fabricators		Midwest Single Source, Inc.	
				Modern Office Furniture		Moduform, Inc.	
B. Tables	Qty.	Unit Price	Ext. Price	National Business Furniture, LLC		National Seating & Mobility	
B1-48 x 168 Conference Table	1	\$1,916.67	\$1,916.67	Progressive Rehabilitation		Retrieval Business Systems, Inc.	
B2-48 x 144 Conference Table	1	\$1,598.24	\$1,598.24	Siggins Company		Spaces, Inc.	
B3-48 x 96 Conference Table	2	\$972.58	\$1,945.16	SW Med-Source		Team Office	
B4-36 x 72 Conference Table	1	\$918.59	\$918.59	Tiger Correctional Services		Trade Products Corp.	
B5-36 Dia. Conference Table	1	\$475.60	\$475.60	Work Safe PT W.R. Ha		ardware	
B6-30 x 72 T Leg Table	1	\$341.83	\$341.83	Berry Material Handling Mi		MityL	ite, Inc.
B7-30 x 60 T-Leg Table	2	\$315.88	\$631.76	Crazy Jay's Furniture & Sleep		MPS Solutions, LLC	
B8-30" Diameter Hightop Table	1	\$329.71	\$329.71	Design Central		NX Supply Group	
	Group B Sub-total		\$8,157.56	ErgoScience		School Outfitters	
				Hertz Furniture Systems		Spectrum Industries, Inc.	
C. Casegoods	Qty.	Unit Price	Ext. Price	Ç,		This End Up Furniture Co., Inc.	
C1-U-Shaped Desk (R) w/Lateral	7	\$6,813.32	\$47,693.24	Marshall Furniture		Wiese USA	
C2-U-Shaped Desk (L). w/Lateral	1	\$6,785.97	\$6,785.97				
C3-U-Shaped Desk (L)	1	\$6,551.59	\$6,551.59				
C4-U-Shaped Desk (L)	1	\$6,692.99	\$6,692.99				
C5-Bookcase	8	\$925.72	\$7,405.76				
C6-L-Shaped Desk (R)	7	\$2,662.91	\$18,640.37				
C7-L-Shaped Desk (L)	9	\$2,662.91	\$23,966.19				
	Group C Sub-total		\$117,736.11				

D. Metal Storage	Qty.	Unit Price	Ext. Price	
D1-30"W Storage Cabinet	18	\$811.80	\$14,612.40	
D2-Box/Box/File Pedestal	2	\$261.97	\$523.94	
Group	p D Sub-total		\$15,136.34	
E. Systems Furniture	Qty.	Unit Price	Ext. Price	
E1-Room 106	1	\$6,295.19	\$6,295.19	
E2-Room 131	1	\$17,571.54	\$17,571.54	
E3-Room 134	1	\$61,571.82	\$61,571.82	
E4-Room 141	1	\$15,953.07	\$15,953.07	
E5-Room 156	1	\$3,302.73	\$3,302.73	
E6-Room 226	1	\$13,081.00	\$13,081.00	
E7-Room 228	1	\$7,005.19	\$7,005.19	
E8-Room 230/231	1	\$15,569.24	\$15,569.24	
E9-Room 232	1	\$9,699.95	\$9,699.95	
E10-Room 234/238	1	\$12,461.82	\$12,461.82	
Grou		\$162,511.55		
Total Price for Furniture Package				
Total Installation			\$23,152.50	
Total Price for Furniture Package (steel overheads with One Sliding Door)		\$363,052.54		
Total Price for Furniture Package				
(steel overheads with One Sliding Door)			<b>***</b> *** ***	
Total Installation TOTAL PRICE FOR FURNITURE PACKAG		\$23,152.50		
(steel overheads with Two Sliding Doors)		\$382,051.59		
(Sectional of the Country of the Cou	<u> </u>			
F. Alternates	Qty.	Unit Price	Ext. Price	
F1-24 x 72 Table with Casters	6	\$355.28	\$2,131.68	
F2-Training Chair with Casters	12	\$271.70	\$3,260.40	
Acknowledge Addenda (1 & 2)	Yes			